
WHEELBASE

REAR AXLE
TO EXISTING

RECEIVER

_________INCHES _________INCHES

DIMENSIONS NEEDED TO DETERMINE
ADDED WEIGHT ON REAR AXLE

DIRECTIONS:  1)  FILL IN THREE BLANKS BELOW
                       2)  PLUG NUMBERS INTO EQUATION
                            AND SOLVE

___________  WEIGHT OF 
                     MOTORCYCLE (LBS)

1
2

ADDED WEIGHT
ON REAR AXLE = A x B ÷ C
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A = Weight of motorcycle + 460 = ________

B = Wheelbase + Rear Axle to Existing Receiver + 23 = ________

c = Wheelbase = ________


